|
| |

] M ‘ i |
: | | |
L | I
| [ |
1 | | | | {
T T
| | f | : |
T | ! 1 1

S SNSRI S——

1 4

,‘_.__ —_— —
| \)\n)n\ e QJ‘C\ B N T O O O
e b ek e g T
_: ) L~ MCWO ’ﬂ\e “\tfd ym ga\i \) 1 l )\q(lL M'C ] -_‘ ;
I HERE

||
?

|

|
_,_._,_ _.h S N

*?0\\0»3 '\\\s \:nﬁe;\ ‘SL:‘O‘(‘:

‘n \D\ 0\,\%‘*&\

|
I
l

S s e naauy S

. ?vdr 1m ﬂe w'\e&} comer

Knlh,'k(‘-!( (“’)
Problem 1

- Theq, woke e £ig ow obernate (20 Vet

1 g:g?_-;i_lef_iﬂ?l ;@i?iﬁi:z‘: HE
VI AR NI A
Ll [2ex [ TL2 002 1)2] |
23T T2 gfp [T2[L] |
BEP2 AR R PAEEC N
2T 4211
| (Ll2t]2 e [2[112 4 [T]
122431222 1] |
22124042 12 |
| 122|242 [4]2 f» Pk _._;_,i

An exqmpfe Miq\ a /ﬂ’/

) wble.

{ i s |
-zglm':e 7!

h"? T T

Figure

[0) [ = | |
| { | ; '

L Ya | A mcnwww

\3\\ LG

Y

J ’r

r— T

|

UL g @v;(;\{)&\;g " Suml\dju\
\\ \36 @W\?)“\% swmw\d% by 1cl !

IMQ mmg, fore w\\\ Wbi Con cqua) wm\m o&‘ \s Lol 2

(os Qc»cx |¥OVy

! ’ | | | ! 1 I
l —a»-twg-— T —§-— ; '3-~ st -
' A [ N R R N i 1 :] b
L B D S § —t Y SUNN WSS T— -~ {
, I 1 | | | | t—
i | | | ‘

!

3 \N,\\!i ames OM\ \\a\l-gu Vo).

,g_ | oo !00‘7 {
e S-——'-‘Y:'"""(Ll)‘f‘

2

\00 x| bO

i




Koll
% ol CK\)
Poblem L

25 4
- +\m93 3 '
1S ’+
ore of e “:wogs%‘b ?S times ?) S ?/7,
ge% o s ! > Tatlfe'of
3 Q )

7S

!
1S
’

215



Ko““lﬁ"d (#6)
PNUC" ‘3

Let tha side ~lRngth of the square he . Then, The disgrem ple,

SO\W\AS-\

(0

w g
l\eﬁ’ the ey sqoae repreitide Lo e
TTEC Cvta

(e€4
rePreenty e mmoynt of deCieage,  The |04 e 2o ke hoder
e a

\S

PN
X - (x-10) *
2
7O - o t400) = 40y ~4606
M} ‘\fe jd'\
Apx 400 35
AT
SC\ig, % itf)-’r 10 Vio4e v e d i‘;—o
q' l
The exble pord s Fraztn when, on e I Aoy,

4*> T/
Tre  ¢molled such & 1 @ =



Kolle, Aral (R
Frobiam &
Page |

. et is ?OSSIHC to Lelit | 139 U'M'IA \fﬁ‘osm\,rg of G od 7L O8

a__L L swevw
] |
- Q’”—?—*?*O % (oi\‘a*?*(a% A @*1)‘\'\/2 G+l + #x(g
| ‘ ,;
'L L T\\\S \5 dDY\Q L)\( r\o{‘\(,\(\g_ M{* ')3/2. 6*21 Qr]d ‘H’“L“ V‘O’HC\ Lﬂd‘
— ! 4@0"&’5 oG con be | rep C«La\ h1 b groqe oR T, Yws quh% He 4ot
—— Ai ‘hum\ve.r OF greups | Sralles | |
L fahd trodime ooy bo alagg kUi 11, 21, 29 and 19
- | ‘:}\f\%\ rcg?@\\\,e,\»& W\\\H W ot |9 gheps, ,
) ' ‘?.ro,o'* trak 10 Shgs “”f""‘-
L] 1 | -
HEEEEEERNE L]
] | L]
i —t— T
NENEE HERE.
o |I[{| T
CAEEEEEERERAN EEEEEE
EENN JREnERS
; i ; /J'"f"]’A‘t—$- _
1] T
1 Q | I
T H T

i
T
l

Z
|

,dﬁl ps ’fm *» sk 14 | skeles Q\% s/, lwc,)

e
wlo(, qrufp\* a4
" \r\'ﬂ,\e
V’M_
Thea, \ve o€
lC’;Hiw\‘H\; AT




[
{
',
W

ekt
\ﬂaiio

|
]
ove, |

i & kheded

|

e
Ll

[N

Al

| T
<] | L

|
, [ | |
41 1 7 4 . S
| | | | | |
| , | { ,
\ |

s | Ybu




Kolla, Arul (o)
Problem 5~

A scume that no 4o 1;308»3

were  ingide  pach Ofhey, TA*Q"‘;
Trere ok ke o

Minimum of  £314%; AB+9941p,..

SDSO («““fx‘\eg\ Homftp‘ We hae Feer Cral{eg  +lon \"I"Q,dJ T]'\"(So
o 0“3”\0& OGS umption |
kep



